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All questions are compulsory.
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The question paper consists of 31 questions divided into four sections A, B, C and D. Section-
A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions of 2 marks each;
Section-C comprises of 10 questions of 3 marks each and Section-D comprises of 11 questions
of 4 marks each.
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There is no overall choice in this question paper
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Use of calculator is not permitted.

@ug-31 / SECTION - A
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Question numbers 1 to 4 carry 1 mark each.
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Express 0.3 in the form B-,wherepandqareinhegersand q= 0.
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If 4x° +7x" ~ 3x — 6 is divided by x +1, then find the quotient.

http://jsuniltutorial.weebly.com/

Pagel


http://jsuniltutorial.weebly.com/

JSUNIL TUTORIAL

3 & T fo= % AB|ICD @1, 9t x %1 5 99 Hiw) 1
:A G B >
157°
EQx
< F D

In given figure AB||CD, find the value of x.
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A policeman and a thief are equidistant from the jewel box. Upon considering jewel box as

origin, the position of policeman is (0, 5). If the ordinate of the position of thief is zero, then
write the coordinates of the position of thief.
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Question numbers 5 to 10 carry 2 marks each.
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Is zero (0) a rational number ? Justify your answer.
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Factorise:.t?-l-S\Ex-f-n}:
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Pwveﬂ\atevexylimsegmenthasoneandouﬂyonenﬂdpoim.
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lnﬁ\egiveBnﬁgme,wehave AB=BC, BX=BY. Show that AX=CY. State the axiom used.
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In which quadrant will the point lie, if
(§3) the ordinate is 2 and the abscissa is —3 ?
(i)  the abscissa is —4 and the ordinate is —2 7
(iii)  the ordinate is 3 and the abscissa is 4 ?
(iv)  the ordinate is 3 and the abscissa is —2?
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Anisosoeltrimglehasperimeber?oOcmandeachofequalsidesia]Zcm Find the area of
the triangle. -

|UE-H/ SECTION - C

TV WA 11 & 20 T Ueddeh W99 3 3 HT £
Question numbers 11 to 20 carry 3 marks each.
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Represent +/7 on the number line.
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Write ¥4, V5, 46 in ascending order.
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Factorise : Y3 —x

14 A% a+b=10 3R a2 + b2 =58 &, W a3 + b3 H A T HIHIY 3

If a4+ b=10 and a2 +b? =58, find the value of a3+ b3,
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